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ISR TH6EE MMWMIETRERRS

% g R - KSR Bifr B 2 B i & B W =
E R 6,124,200 + 192,016 6,316,216
EEAGE 6, 124, 200
BE#RE 192,016
T DR 6,124,200 x 42.86% ( 30% + (1 — 30% ) ) 2,624,832
BRI 6,316,216 + 2,624,832 8,941,048
—REERF 8,941,048 x 53.85% ( 35% = (1 — 35% ) ) — 5,802 4,808, 952
ES AT 8,941,048 + 4,808, 952 13, 750, 000
HETREALE 13,750,000 x 10.00% 1,375,000
EBEREN 13,750,000 + 1,375,000 15, 125, 000




BEANRE SHIGERE MASHIE THRRLES

% # 1 - AR T Bf # & B & = =
B Rl 6,316, 216
MARAIRTE TRESE RS 6,316, 216
MARAM IR TE TRESE RS 6,316, 216
EEAGE 6,124, 200
i - s 57,000
1 & - |mE 2.00 28,500 57,000
)
ETHERES 6,067, 200
2 ETRRE DR 67.00 76, 800 5,145, 600
)
3 REERFOMER 12.00 76, 800 921, 600
r—2
BEERE 192,016
EHRARE 60, 672
4 EBRARE 1.00 60, 672 60, 672
=
AR 121, 344
5 BHHMHERRZE 1.00 121,344 121,344
=
R 10, 000
6 XBERRRE 1.00 10, 000 10, 000
=




REAR-ET/Avr—> HHGERE MANMIE THELHS
&5 1
L - BE
2 # 1BIE - AR B B i % W o= w =
EIEHME BEm (A)
A 0.50 57, 000. 00 28, 500
= it YEZERES ;- 1.00[E 28, 500. 00 28, 500
E5:2
2% MIKREORER
2 # 1BIE - AR B B i % W o= w =
EL R E A (C)
A 2.00 38, 400. 00 76, 800
= it YEZERES ;- 1.00[E 76, 800. 00 76, 800
&5 :3
B IRHEEEORE 1r—2%y
2 # 1BIE - AR Bif B i % W o= w =
EL R E A (C)
A 2.00 38, 400. 00 76, 800
= it 1E¥8EH  1.00—X 76, 800. 00 76, 800
S .4
L EHEARE
2 # 1BIE - AR B B i % W o= w =
EBRARE
= 1.00 60, 672. 00 60, 672
= it YEZERED 1. 00K 60, 672. 00 60, 672




REAR-ET/Avr—> SHIGERE MG TRBLE

F5 .5
2% EERERRE 1LY
2 b g - BIRTE BT o = BHO(f ® W = " =
BEREARE
= 1.00 121, 344.00 121, 344
& Hi 1YE%HeRH 1,00 121, 344.00 121, 344
ES .6
2% EBHRRE 1LY
2 b g - BIRTE BT H = BHO(f ® W E " =
EBHRERERE
= 1.00 10, 000. 00 10, 000
& Hi 1E%HeH - 1.00K 10, 000. 00 10, 000




